
AP Statistics 
Test 3 

Show all work and justify your answers 
Each question is worth 3 points 
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Free Response 

Show your work and justify your answers 
14 points 

 
(  d) Prior to conducting the experiment, you learned that some employees work on the night shift and some 
employees work on the day shift. How could you incorporate blocking to improve this experiment? Explain. 
  (e) Could double blinding be applied to this experiment? Explain.  
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(a) What are the explanatory variable and the response variable?  
 
 
 
 
 
(b)  
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(d) What if the teacher did the experiment with 10 sixth graders and 14 seventh graders? How 
would incorporate blocking to improve this experiment?  
 
 
 
 
 
 
 
 
(e) Would it make sense to use double blinding in this experiment? Explain. 
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